



Behw. Wartungsweg

vorh. Gehweg

Betonpflasterfläche

Grünfläche

Bösung

Mulde

Bankett

Insel

A20: Tunnel

St. inkl. Geländer 0.50

Strassenbahn

Wartefläche

Notgebahn

Mulde

Bösung

Abbruch

Grünfläche

Stützwand mit Geländer (h=1,20m)

2,50 2-Ri Radweg

3,00 Wartefläche

3,00

3,00

3,00

6,50

Stützwand mit Geländer (h=1,20m)

2,100

3,25

3,25

2,100

1,50

1,50

0,30

1,50

1,50

0,40

3,47

0,40

2,100

3,25

3,25

2,100

1,50

1,50

0,30

1,50

1,50

0,30

1,50

1,50

0,30

1,50

0,40

3,47

0,40

2,100

3,25

3,25

2,100

1,50

1,50

0,30

1,50

1,50

0,30

1,50

1,50

0,30

1,50

0,40

3,47

0,40

2,100

3,25

3,25

2,100

1,50

1,50

0,30

1,50

1,50

0,30

1,50

1,50

0,30

1,50

11-09

11-11

11-12

11-13

12-02

11-15

11-17

11-18

11-19

11-22

11-25

11-27

11-28

11-28

11-30

11-31

11-31

11-31

11-09

11-11

11-12

11-13

12-02

11-15

11-17

11-18

11-19

11-22

11-25

11-27

11-28

11-28

11-30

11-31

11-31

11-31

11-09

11-11

11-12

11-13

12-02

11-15

11-17

11-18

11-19

11-22

11-25

11-27

11-28

11-28

11-30

11-31

11-31

11-31

11-09

11-11

11-12

11-13

12-02

11-15

11-17

11-18

11-19

11-22

11-25

11-27

11-28

11-28

11-30

11-31

11-31

11-31

$H = 500,000 \text{ m}$   
 $km = 0-017,348$   
 $h \text{ TS} = 47,662$   
 $T = 13,749$   
 $f = 0,00087$   
 $u = 951,68$   
 $u = 14,898 \text{ m}$   
 $+2,500\%$

$H = 500,000 \text{ m}$   
 $km = 0-017,348$   
 $h \text{ TS} = 47,662$   
 $T = 13,749$   
 $f = 0,00087$   
 $u = 951,68$   
 $u = 14,898 \text{ m}$   
 $+2,500\%$

$H = 500,000 \text{ m}$   
 $km = 0-017,348$   
 $h \text{ TS} = 47,662$   
 $T = 13,749$   
 $f = 0,00087$   
 $u = 951,68$   
 $u = 14,898 \text{ m}$   
 $+2,500\%$

$H = 500,000 \text{ m}$   
 $km = 0-017,348$   
 $h \text{ TS} = 47,662$   
 $T = 13,749$   
 $f = 0,00087$   
 $u = 951,68$   
 $u = 14,898 \text{ m}$   
 $+2,500\%$

$H = 500,000 \text{ m}$   
 $km = 0-017,348$   
 $h \text{ TS} = 47,662$   
 $T = 13,749$   
 $f = 0,00087$   
 $u = 951,68$   
 $u = 14,898 \text{ m}$   
 $+2,500\%$

$H = 500,000 \text{ m}$   
 $km = 0-017,348$   
 $h \text{ TS} = 47,662$   
 $T = 13,749$   
 $f = 0,00087$   
 $u = 951,68$   
 $u = 14,898 \text{ m}$   
 $+2,500\%$

$H = 500,000 \text{ m}$   
 $km = 0-017,348$   
 $h \text{ TS} = 47,662$   
 $T = 13,749$   
 $f = 0,00087$   
 $u = 951,68$   
 $u = 14,898 \text{ m}$   
 $+2,500\%$

$H = 500,000 \text{ m}$   
 $km = 0-017,348$   
 $h \text{ TS} = 47,662$   
 $T = 13,749$   
 $f = 0,00087$   
 $u = 951,68$   
 $u = 14,898 \text{ m}$   
 $+2,500\%$

$H = 500,000 \text{ m}$   
 $km = 0-017,348$   
 $h \text{ TS} = 47,662$   
 $T = 13,749$   
 $f = 0,00087$   
 $u = 951,68$   
 $u = 14,898 \text{ m}$   
 $+2,500\%$

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851

0+219.851